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Jonathan Rowson won this year’s British Championship, making it three wins in the past three years. Such dominance has not been seen in British Championships since 1958-69 when Jonathan Penrose, famous for his victory over Tal in the 1960 Leipzig Olympiad (the first British player in the 20th century to defeat a reigning world champion), won the title 10 times, including 6 times in succession. 
Here is a position from this year’s British Championship (Hebden – Snape).  Spot the main defect in Black’s position and you will be able to find White’s stunning finish (3 moves):
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On the local scene the dominance by Haydn Barber in WA Championships continued with an almost untroubled win in this year’s competition. With a score of 8/9 (+7, =2) Haydn finished 1.5 points ahead of Tristan Boyd, Michael Kueh and Gordon Dunlop.  Haydn has now won the title 14 times since 1970 including 5 years in succession since 2002.  His title count would undoubtedly have been much higher if he had not spent a number of years in Victoria and Ireland.  Here is his crucial game against Tristan Boyd, who, with a higher rating, was expected to provide a serious challenge to Haydn this year:



HAYDN  BARBER   -   TRISTAN  BOYD



2006 WA Championship, Round 6



Sicilian Defence: Closed System



 1    e4  
c5  


 2    Nc3  
Nc6



 3    g3  
g6 


 4    Bg2 
Bg7



 5    d3  
d6 


 6    f4  
e6(a)


 7    Nf3  
Nge7 


 8    0-0 
0-0



 9    Be3 
b6(b)


10   d4  
d5



11   exd 
Nf5 


12   Bf2  
Ncxd5



13   Ne5 
exd 


14   Nxd5 
Bb7(c)


15   Nf6+!? 
Qxf6 


16   Bxb7 
Rad8



17   c3  
Qe7! 


18   Bg2  
Bxe5



19   fxe5  
Nc6  


20   Qe2  
Qxe5(d)


21   Qb5  
Nb8 


22   g4  
Nd6



23   Qa4  
a6(e)


24   Rae1 
Qg7



25   Bg3
b5 


26   Qa3 
Nc4



27   Qxc5 
Nxb2(f) 

28   Re7 
Na4(g)


29   Qa7 
resigns

a) Main alternatives are 6…e5 and 6…Nf6.

b) Described by Gary Lane (Winning with the Closed Sicilian) as ‘a rather passive continuation’.  More usual is 9…Nd4 which can be met by the thematic 10 Qd2 preparing Nd1, c3 or (as Haydn intended) the aggressive 10 e5.
c) A risky move which gives White the opportunity at the cost of a pawn to gain 2 bishops v 2 knights in an open position.

d) Possibly better was 20…Nxe5 although White’s bishops will exert worrying pressure after 21 g4, Nd3!  22 Qxe7, Nxe7 23 Bh4.
e) Alternatives leave Black feeling the heat on the black squares: 23…Rd7  24 Rae1, Qg5  25 Be3  or 23…Qe2  24 Rae1, Qxb2  25 Bh4, Rd7  26 Be7. 

f) Black’s knights have been forced out of play while White’s bishops will combine in a massive attack on Black’s king.
g) If 28…Rd7 29 Rxd7 (29 Bd5 is also strong) 29…Nxd7  30 Qc7, f6/5  31 Bd6, Re8  32 Bc6 wins or 28…Rd1  29 Rxd1, Nxd1  30 Qd6 followed by Bd5 or Be5 maintains White’s advantage.
h) Not 29…Nxc3?  30 Bd4 nor 29…Qxc3  30 Rexf7.  If 29…g5 (freeing g6 for the queen) 30 Bxb8, Rxb8  31 Rfxf7! Rxf7  32 Qxb8+, Qf8  33 Re8.  A fine example of the power of the two bishops.
The WA Junior Championships, September 9-10 and 16-17. Under 10, 12, 14, 16, Open (separate tournaments for boys and girls).  Venue Christ Church Grammar, enquiries 9409 9579.

SOLUTION:  Black’s problem is his confined king with the f6 Bishop overworked in protecting his monarch : 1 Rd8+! Bxd8  (1…Kg7  2 Rg8#) 2 Be5+, Bf6  6 Bxf6#. 

